

Lista 2

Exercício 1:

$$\begin{array}{c}
 \frac{\frac{\frac{\frac{(\mathbf{a} \vee \mathbf{b})^{(2)} \quad \frac{(\mathbf{a} \rightarrow \mathbf{b})^{(1)} \quad \mathbf{a}^{(3)}(E \rightarrow) \quad \mathbf{b}^{(4)}}{\mathbf{b}}(E\vee)(3)(4)}{\mathbf{b}}(I \rightarrow)(2)}{((\mathbf{a} \vee \mathbf{b}) \rightarrow \mathbf{b})} \\
 \frac{\frac{\frac{\frac{\mathbf{b}^{(5)}}{(\mathbf{a} \vee \mathbf{b})}(I\vee)}{(\mathbf{b} \rightarrow (\mathbf{a} \vee \mathbf{b}))}(I \rightarrow)(5)}{(\mathbf{a} \vee \mathbf{b})} (I\wedge)}{((\mathbf{a} \vee \mathbf{b}) \leftrightarrow \mathbf{b})} (I \rightarrow)(1)}{((\mathbf{a} \rightarrow \mathbf{b}) \rightarrow ((\mathbf{a} \vee \mathbf{b}) \leftrightarrow \mathbf{b}))} \\
 \frac{\frac{\frac{\frac{\frac{((\mathbf{a} \vee \mathbf{b}) \leftrightarrow \mathbf{b})^{(6)}(E\wedge) \quad \mathbf{a}^{(7)}(I\vee)}{((\mathbf{a} \vee \mathbf{b}) \rightarrow \mathbf{b})} \quad \frac{\mathbf{a}^{(7)}}{(\mathbf{a} \vee \mathbf{b})}(I\vee)}{\mathbf{b}}(E \rightarrow)}{(\mathbf{a} \rightarrow \mathbf{b})} (I \rightarrow)(7)}{((\mathbf{a} \vee \mathbf{b}) \leftrightarrow \mathbf{b}) \rightarrow (\mathbf{a} \rightarrow \mathbf{b})} (I \rightarrow)(6)}{((\mathbf{a} \rightarrow \mathbf{b}) \leftrightarrow ((\mathbf{a} \vee \mathbf{b}) \leftrightarrow \mathbf{b}))} (I\wedge)
 \end{array}$$

Exercício 2:

$$\frac{\frac{\frac{(\mathbf{a} \vee (\mathbf{a} \wedge \mathbf{b}))^{(1)} \quad \mathbf{a}^{(2)} \quad \frac{(\mathbf{a} \wedge \mathbf{b})^{(3)}(E\wedge)}{\mathbf{a}}(E\vee)(2)(3)}{\mathbf{a}}(I \rightarrow)(1)}{((\mathbf{a} \vee (\mathbf{a} \wedge \mathbf{b})) \rightarrow \mathbf{a})}$$

Exercício 3:

$$\frac{\frac{\frac{(\mathbf{a} \wedge (\mathbf{b} \vee \mathbf{c}))^{(1)}(E\wedge)}{(\mathbf{b} \vee \mathbf{c})} \quad \frac{\frac{\frac{\mathbf{b}^{(2)} \quad \frac{(\mathbf{a} \wedge (\mathbf{b} \vee \mathbf{c}))^{(1)}(E\wedge)}{\mathbf{a}}(I\wedge)}{(\mathbf{a} \wedge \mathbf{b})} (I\wedge)}{((\mathbf{a} \wedge \mathbf{b}) \vee (\mathbf{a} \wedge \mathbf{c}))} (I\vee)}{(\mathbf{a} \wedge \mathbf{b}) \vee (\mathbf{a} \wedge \mathbf{c})} (E\vee)(2)(3)}{((\mathbf{a} \wedge (\mathbf{b} \vee \mathbf{c})) \rightarrow ((\mathbf{a} \wedge \mathbf{b}) \vee (\mathbf{a} \wedge \mathbf{c})))} (I \rightarrow)(1)$$

Exercício 4:

$$\frac{\frac{\frac{(\mathbf{a} \vee (\mathbf{b} \wedge \mathbf{c}))^{(1)} \quad \mathbf{a}^{(2)}(I\vee) \quad \frac{\frac{(\mathbf{b} \wedge \mathbf{c})^{(3)}(E\wedge)}{\mathbf{c}}(I\vee)}{(\mathbf{a} \vee \mathbf{c})} (E\vee)(2)(3)}{(\mathbf{a} \vee \mathbf{c})} \quad \frac{\frac{(\mathbf{a} \vee (\mathbf{b} \wedge \mathbf{c}))^{(1)} \quad \mathbf{a}^{(4)}(I\vee) \quad \frac{\frac{(\mathbf{b} \wedge \mathbf{c})^{(5)}(E\wedge)}{\mathbf{b}}(I\vee)}{(\mathbf{a} \vee \mathbf{b})} (E\vee)(4)(5)}{(\mathbf{a} \vee \mathbf{b})} (I\wedge)}{((\mathbf{a} \vee \mathbf{b}) \wedge (\mathbf{a} \vee \mathbf{c}))} (I \rightarrow)(1)}{((\mathbf{a} \vee (\mathbf{b} \wedge \mathbf{c})) \rightarrow ((\mathbf{a} \vee \mathbf{b}) \wedge (\mathbf{a} \vee \mathbf{c})))}$$

Exercício 5:

$$\frac{\frac{\frac{(\mathbf{a} \vee \mathbf{b})^{(3)} \quad \frac{(\mathbf{a} \rightarrow \mathbf{c})^{(1)} \quad \mathbf{a}^{(4)}(E \rightarrow) \quad \frac{(\mathbf{b} \rightarrow \mathbf{c})^{(2)} \quad \mathbf{b}^{(5)}(E \rightarrow)}{\mathbf{c}}(E\vee)(4)(5)}{\mathbf{c}}(I \rightarrow)(3)}{((\mathbf{a} \vee \mathbf{b}) \rightarrow \mathbf{c})} (I \rightarrow)(2)}{((\mathbf{b} \rightarrow \mathbf{c}) \rightarrow ((\mathbf{a} \vee \mathbf{b}) \rightarrow \mathbf{c}))} (I \rightarrow)(1)}{((\mathbf{a} \rightarrow \mathbf{c}) \rightarrow ((\mathbf{b} \rightarrow \mathbf{c}) \rightarrow ((\mathbf{a} \vee \mathbf{b}) \rightarrow \mathbf{c})))}$$

Exercício 6:

$$\frac{\frac{\frac{\frac{((\mathbf{a} \rightarrow \mathbf{c}) \wedge (\mathbf{b} \rightarrow \mathbf{c}))^{(1)}(E\wedge) \quad \mathbf{a}^{(3)} \quad \frac{((\mathbf{a} \rightarrow \mathbf{c}) \wedge (\mathbf{b} \rightarrow \mathbf{c}))^{(1)}(E\wedge) \quad \mathbf{b}^{(4)}}{(\mathbf{b} \rightarrow \mathbf{c})} (E \rightarrow)}{\mathbf{c}}(E\vee)(3)(4)}{\mathbf{c}}(I \rightarrow)(2)}{((\mathbf{a} \vee \mathbf{b}) \rightarrow \mathbf{c})} (I \rightarrow)(1)}{(((\mathbf{a} \rightarrow \mathbf{c}) \wedge (\mathbf{b} \rightarrow \mathbf{c})) \rightarrow ((\mathbf{a} \vee \mathbf{b}) \rightarrow \mathbf{c}))}$$

Lista 3

Exercício 1:

$$\frac{\frac{\frac{a^{(1)} \quad \neg a^{(2)}}{\perp} (I\perp) \quad \frac{\neg\neg a^{(3)}}{a} (E\neg)}{\neg a} (I\neg)(2) \quad \frac{a}{(\neg a \rightarrow a)} (I\rightarrow)(3)}{\frac{a \rightarrow \neg a}{(a \leftrightarrow \neg a)}} (I\wedge)(1)$$

Exercício 2:

$$\frac{\frac{\frac{(a \rightarrow b)^{(1)} \quad a^{(3)} \quad \neg b^{(2)}}{b} (E\rightarrow) \quad \frac{\perp}{\neg a} (I\perp)}{\neg b \rightarrow \neg a} (I\neg)(3)}{\frac{(\neg b \rightarrow \neg a)}{((a \rightarrow b) \rightarrow (\neg b \rightarrow \neg a))}} (I\rightarrow)(2)(1)$$

Exercício 3:

$$\frac{\frac{\frac{a^{(2)}}{(a \vee \neg a)} (IV) \quad \frac{\perp}{\neg a} (I\perp)}{\neg(a \vee \neg a)} (I\neg)(2) \quad \frac{\neg a}{(a \vee \neg a)} (IV) \quad \frac{\perp}{\neg\neg(a \vee \neg a)} (I\perp)}{\frac{\neg\neg(a \vee \neg a)}{(a \vee \neg a)}} (I\neg)(1) (E\neg)$$

Exercício 4:

$$\frac{\frac{\frac{a}{((a \rightarrow b) \rightarrow a)} (I\rightarrow)(2) \quad (a \rightarrow b)}{a} (E\rightarrow)}{\frac{a}{(((a \rightarrow b) \rightarrow a) \rightarrow a)}} (I\rightarrow)(1)$$

Exercício 5:

$$\frac{\frac{\frac{(a \wedge b)^{(1)} \quad \neg a^{(3)} \quad \frac{(a \wedge b)^{(1)} \quad \neg b^{(4)}}{b} (E\wedge) \quad \frac{\perp}{\neg a} (I\perp)}{\neg(a \vee \neg b)} (E\vee)(3)(4)}{\frac{\neg\neg a}{((a \wedge b) \rightarrow \neg(a \vee \neg b))}} (I\neg)(2)(1) \quad \frac{\frac{\frac{\neg a^{(6)}}{(\neg a \vee \neg b)} (IV) \quad \frac{\perp}{\neg\neg a} (I\perp)}{\neg\neg a} (I\neg)(6) \quad \frac{\frac{\neg b^{(7)}}{(\neg a \vee \neg b)} (IV) \quad \frac{\perp}{\neg\neg b} (I\perp)}{\neg\neg b} (I\neg)(7)}{\frac{a \quad b}{(a \wedge b)}} (E\neg)(I\wedge)}{\frac{(\neg\neg a \vee \neg\neg b) \rightarrow (a \wedge b)}{((a \wedge b) \leftrightarrow \neg(\neg a \vee \neg b))}} (I\rightarrow)(5) (I\wedge)$$

Exercício 6:

$$\frac{\frac{\frac{(a \rightarrow b)^{(1)} \quad \frac{(a \wedge \neg b)^{(2)}}{a} (E\wedge) \quad \frac{\perp}{\neg(a \wedge \neg b)} (I\perp)}{\neg(a \wedge \neg b)} (I\neg)(2)}{\frac{(\neg(a \wedge \neg b))}{((a \rightarrow b) \rightarrow \neg(a \wedge \neg b))}} (I\rightarrow)(1) \quad \frac{\frac{\frac{\neg b^{(5)} \quad a^{(4)} \quad \neg(a \wedge \neg b)^{(3)}}{(a \wedge \neg b)} (I\wedge) \quad \frac{\perp}{\neg\neg b} (I\perp)}{\neg\neg b} (I\neg)(5)}{\frac{b}{(a \rightarrow b)}} (E\neg)(I\rightarrow)(4)}{\frac{(\neg(a \wedge \neg b) \rightarrow (a \rightarrow b))}{((a \rightarrow b) \leftrightarrow \neg(a \wedge \neg b))}} (I\rightarrow)(3) (I\wedge)$$

Exercício 7:

$$\begin{array}{c}
\frac{(\neg \mathbf{a} \vee \neg \mathbf{b})}{(\neg(\mathbf{a} \wedge \mathbf{b}) \rightarrow (\neg \mathbf{a} \vee \neg \mathbf{b}))} (I \rightarrow)(1) \quad \frac{\frac{\frac{(\mathbf{a} \wedge \mathbf{b})^{(3)}}{\mathbf{a}} (E \wedge) \quad \neg \mathbf{a}^{(4)}}{\perp} (I \perp) \quad \frac{\frac{(\mathbf{a} \wedge \mathbf{b})^{(3)}}{\mathbf{b}} (E \wedge) \quad \neg \mathbf{b}^{(5)}}{\perp} (I \perp)}{\perp} (E \vee)(4)(5)}{\neg(\mathbf{a} \wedge \mathbf{b})} (I \neg)(3)}{((\neg \mathbf{a} \vee \neg \mathbf{b}) \rightarrow \neg(\mathbf{a} \wedge \mathbf{b}))} (I \rightarrow)(2)}{(\neg(\mathbf{a} \wedge \mathbf{b}) \leftrightarrow (\neg \mathbf{a} \vee \neg \mathbf{b}))} (I \wedge)
\end{array}$$

Exercício 8:

$$\begin{array}{c}
\frac{\frac{(\mathbf{a} \vee \mathbf{b})^{(1)} \quad \frac{\frac{\mathbf{a}^{(3)} \quad \frac{(\neg \mathbf{a} \wedge \neg \mathbf{b})^{(2)}}{\neg \mathbf{a}} (E \wedge)}{\perp} (I \perp)}{\perp} (I \neg)(2)}{\perp} (E \vee)(3)(4)}{\neg(\neg \mathbf{a} \wedge \neg \mathbf{b})} (I \neg)(2)}{((\mathbf{a} \vee \mathbf{b}) \rightarrow \neg(\neg \mathbf{a} \wedge \neg \mathbf{b}))} (I \rightarrow)(1) \quad \frac{\frac{(\mathbf{a} \vee \mathbf{b})}{(\neg(\neg \mathbf{a} \wedge \neg \mathbf{b}) \rightarrow (\mathbf{a} \vee \mathbf{b}))} (I \rightarrow)(5)}{((\mathbf{a} \vee \mathbf{b}) \leftrightarrow \neg(\neg \mathbf{a} \wedge \neg \mathbf{b}))} (I \wedge)
\end{array}$$

Exercício 9:

$$\begin{array}{c}
\frac{\frac{\frac{\mathbf{a}^{(2)}}{(\mathbf{a} \vee \mathbf{b})} (I \vee) \quad \neg(\mathbf{a} \vee \mathbf{b})^{(1)}}{\perp} (I \perp)}{\neg \mathbf{a}} (I \neg)(2) \quad \frac{\frac{\frac{\mathbf{b}^{(3)}}{(\mathbf{a} \vee \mathbf{b})} (I \vee) \quad \neg(\mathbf{a} \vee \mathbf{b})^{(1)}}{\perp} (I \perp)}{\neg \mathbf{b}} (I \neg)(3)}{(\neg \mathbf{a} \wedge \neg \mathbf{b})} (I \wedge)}{(\neg(\mathbf{a} \vee \mathbf{b}) \rightarrow (\neg \mathbf{a} \wedge \neg \mathbf{b}))} (I \rightarrow)(1) \quad \frac{\frac{\frac{(\mathbf{a} \vee \mathbf{b})^{(5)} \quad \frac{\frac{\mathbf{a}^{(6)} \quad \frac{(\neg \mathbf{a} \wedge \neg \mathbf{b})^{(4)}}{\neg \mathbf{a}} (E \wedge)}{\perp} (I \perp)}{\perp} (E \vee)(6)(7)}{\neg(\mathbf{a} \vee \mathbf{b})} (I \neg)(5)}{((\neg \mathbf{a} \wedge \neg \mathbf{b}) \rightarrow \neg(\mathbf{a} \vee \mathbf{b}))} (I \rightarrow)(4)}{(\neg(\mathbf{a} \vee \mathbf{b}) \leftrightarrow (\neg \mathbf{a} \wedge \neg \mathbf{b}))} (I \wedge)
\end{array}$$

Exercício 10:

$$\begin{array}{c}
\frac{\frac{\frac{(\mathbf{a} \rightarrow \mathbf{b})^{(1)} \quad \mathbf{a}^{(3)}}{\mathbf{b}} (E \rightarrow)}{(\neg \mathbf{a} \vee \mathbf{b})} (I \vee) \quad \neg(\neg \mathbf{a} \vee \mathbf{b})^{(2)}}{\perp} (I \perp)}{\neg \mathbf{a}} (I \neg)(3) \quad \frac{\frac{\frac{\neg \mathbf{a}}{(\neg \mathbf{a} \vee \mathbf{b})} (I \vee) \quad \neg(\neg \mathbf{a} \vee \mathbf{b})^{(2)}}{\perp} (I \perp)}{\neg \neg(\neg \mathbf{a} \vee \mathbf{b})} (I \neg)(2)}{(\neg \mathbf{a} \vee \mathbf{b})} (E \neg)}{((\mathbf{a} \rightarrow \mathbf{b}) \rightarrow (\neg \mathbf{a} \vee \mathbf{b}))} (I \rightarrow)(1) \quad \frac{\frac{\frac{(\neg \mathbf{a} \vee \mathbf{b})^{(4)} \quad \frac{\frac{\mathbf{a}^{(5)} \quad \neg \mathbf{a}^{(6)}}{\perp} (I \perp)}{\perp} (E \perp)}{\mathbf{b}} (E \vee)(6)(7)}{\mathbf{b}} (I \rightarrow)(5)}{(\mathbf{a} \rightarrow \mathbf{b})} (I \rightarrow)(4)}{((\neg \mathbf{a} \vee \mathbf{b}) \rightarrow (\mathbf{a} \rightarrow \mathbf{b}))} (I \wedge)
\end{array}$$

Lista 4

Exercício 1:

$$\frac{\frac{\frac{\forall x.\mathbf{R}(x,x)^{(1)}}{\mathbf{R}(x,x)}(E\forall)}{\exists y.\mathbf{R}(x,y)}(I\exists)}{\forall x.\exists y.\mathbf{R}(x,y)}(I\forall)}{(\forall x.\mathbf{R}(x,x) \rightarrow \forall x.\exists y.\mathbf{R}(x,y))}(I \rightarrow)(1)$$

Exercício 2:

$$\frac{\frac{\frac{\frac{\exists x.\forall y.\mathbf{R}(x,y)^{(1)} \quad \forall y.\mathbf{R}(x,y)^{(2)}}{\forall y.\mathbf{R}(x,y)}(E\exists)(2)}{\mathbf{R}(x,y)}(E\forall)}{\exists x.\mathbf{R}(x,y)}(I\exists)}{\forall y.\exists x.\mathbf{R}(x,y)}(I\forall)}{(\exists x.\forall y.\mathbf{R}(x,y) \rightarrow \forall y.\exists x.\mathbf{R}(x,y))}(I \rightarrow)(1)$$

Exercício 3: $\forall x.\mathbf{R}(x,x) \vdash \forall x.\exists y.\mathbf{R}(x,y)$

$$\frac{\frac{\frac{\forall x.\mathbf{R}(x,x)}{\mathbf{R}(x,x)}(E\forall)}{\exists y.\mathbf{R}(x,y)}(I\exists)}{\forall x.\exists y.\mathbf{R}(x,y)}(I\forall)$$

Exercício 4: $\forall x.\mathbf{R}(x,x) \vdash \forall x.\forall y. (\mathbf{R}(x,y) \rightarrow \exists z. (\mathbf{R}(x,z) \wedge \mathbf{R}(z,y)))$

$$\frac{\frac{\frac{\frac{\frac{\mathbf{R}(x,y)^{(1)}}{\forall y.\mathbf{R}(x,y)}(I\forall)}{\forall x.\forall y.\mathbf{R}(x,y)}(E\forall)}{\forall y.\mathbf{R}(z,y)}(E\forall)}{\mathbf{R}(z,y)}(E\forall)}{\frac{\frac{\frac{\frac{\mathbf{R}(x,y)^{(1)}}{\forall y.\mathbf{R}(x,y)}(I\forall)}{\mathbf{R}(x,z)}(E\forall)}{\mathbf{R}(x,z)}(E\forall)}{\mathbf{R}(x,z) \wedge \mathbf{R}(z,y)}(I\wedge)}{\exists z. (\mathbf{R}(x,z) \wedge \mathbf{R}(z,y))}(I\exists)}{\mathbf{R}(x,y) \rightarrow \exists z. (\mathbf{R}(x,z) \wedge \mathbf{R}(z,y))}(I \rightarrow)(1)}{\forall y. (\mathbf{R}(x,y) \rightarrow \exists z. (\mathbf{R}(x,z) \wedge \mathbf{R}(z,y)))}(I\forall)}{\forall x.\forall y. (\mathbf{R}(x,y) \rightarrow \exists z. (\mathbf{R}(x,z) \wedge \mathbf{R}(z,y)))}(I\forall)$$

Exercício 5: $\forall x.\forall y. (\mathbf{R}(x,y) \rightarrow \neg\mathbf{R}(y,x)) \vdash \forall x.\neg\mathbf{R}(x,x)$

$$\frac{\frac{\frac{\frac{\forall x.\forall y. (\mathbf{R}(x,y) \rightarrow \neg\mathbf{R}(y,x))}{\forall y. (\mathbf{R}(x,y) \rightarrow \neg\mathbf{R}(y,x))}(E\forall)}{(\mathbf{R}(x,x) \rightarrow \neg\mathbf{R}(x,x))}(E\forall)}{\neg\mathbf{R}(x,x)}(E \rightarrow)}{\perp}(I\perp)}{\neg\mathbf{R}(x,x)}(I\neg)(1)}{\forall x.\neg\mathbf{R}(x,x)}(I\forall)$$

Exercício 6: $\exists x.\mathbf{p}(x) \vdash \neg\forall x.\neg\mathbf{p}(x)$

$$\frac{\frac{\frac{\exists x.\mathbf{p}(x) \quad \mathbf{p}(x)^{(2)}}{\mathbf{p}(x)}(E\exists)(2)}{\perp}(I\perp)}{\neg\forall x.\neg\mathbf{p}(x)}(I\neg)(1)}{\forall x.\neg\mathbf{p}(x)}(E\forall)$$

Exercício 7: $\exists x.\mathbf{p}(x,x) \vdash \exists x.\exists y.\mathbf{p}(x,y)$

$$\begin{array}{c}
\frac{\exists x.\mathbf{p}(x,x) \quad \mathbf{p}(x,x)^{(2)}}{\mathbf{p}(x,x)} (E\exists)(2) \\
\frac{\mathbf{p}(x,x)}{\exists y.\mathbf{p}(x,y)} (I\exists) \quad \mathbf{p}(x,y)^{(1)} \\
\frac{\exists y.\mathbf{p}(x,y)}{\mathbf{p}(x,y)} (E\exists)(1) \\
\frac{\mathbf{p}(x,y)}{\exists y.\mathbf{p}(x,y)} (I\exists) \\
\frac{\exists y.\mathbf{p}(x,y)}{\exists x.\exists y.\mathbf{p}(x,y)} (I\exists)
\end{array}$$

Lista 5

Exercício 1: $\forall x.\forall y.\forall z. ((\mathbf{R}(x, y) \wedge \mathbf{R}(y, z)) \rightarrow \mathbf{R}(x, z)), \forall x.\neg\mathbf{R}(x, x) \vdash \forall x.\forall y. (\mathbf{R}(x, y) \rightarrow \neg\mathbf{R}(y, x))$

$$\begin{array}{c}
 \frac{\forall x.\forall y.\forall z. ((\mathbf{R}(x, y) \wedge \mathbf{R}(y, z)) \rightarrow \mathbf{R}(x, z))}{\forall y.\forall z. ((\mathbf{R}(x, y) \wedge \mathbf{R}(y, z)) \rightarrow \mathbf{R}(x, z))} (E\forall) \\
 \frac{\forall z. ((\mathbf{R}(x, y) \wedge \mathbf{R}(y, z)) \rightarrow \mathbf{R}(x, z))}{((\mathbf{R}(x, y) \wedge \mathbf{R}(y, x)) \rightarrow \mathbf{R}(x, x))} (E\forall) \quad \frac{\mathbf{R}(x, y)^{(1)} \quad \mathbf{R}(y, x)^{(2)}}{(\mathbf{R}(x, y) \wedge \mathbf{R}(y, x))} (I\wedge) \\
 \frac{\quad}{\mathbf{R}(x, x)} (E \rightarrow) \quad \frac{\forall x.\neg\mathbf{R}(x, x)}{\neg\mathbf{R}(x, x)} (E\forall) \\
 \frac{\quad}{\perp} (I\perp) \\
 \frac{\perp}{\neg\mathbf{R}(y, x)} (I\neg)(2) \\
 \frac{\neg\mathbf{R}(y, x)}{(\mathbf{R}(x, y) \rightarrow \neg\mathbf{R}(y, x))} (I \rightarrow)(1) \\
 \frac{\quad}{\forall y. (\mathbf{R}(x, y) \rightarrow \neg\mathbf{R}(y, x))} (I\forall) \\
 \frac{\quad}{\forall x.\forall y. (\mathbf{R}(x, y) \rightarrow \neg\mathbf{R}(y, x))} (I\forall)
 \end{array}$$

Exercício 2: $\forall x.\forall y. (\mathbf{R}(x, y) \rightarrow \mathbf{R}(y, x)) \vdash \forall x.\forall y.\forall z. ((\mathbf{R}(x, y) \wedge \mathbf{R}(x, z)) \rightarrow \exists u. (\mathbf{R}(y, u) \wedge \mathbf{R}(z, u)))$

$$\begin{array}{c}
 \frac{\forall x.\forall y. (\mathbf{R}(x, y) \rightarrow \mathbf{R}(y, x))}{\forall y. (\mathbf{R}(x, y) \rightarrow \mathbf{R}(y, x))} (E\forall) \quad \frac{(\mathbf{R}(x, y) \wedge \mathbf{R}(x, z))^{(1)}}{\mathbf{R}(x, z)} (E\wedge) \quad \frac{\forall x.\forall y. (\mathbf{R}(x, y) \rightarrow \mathbf{R}(y, x))}{\forall y. (\mathbf{R}(x, y) \rightarrow \mathbf{R}(y, x))} (E\forall) \quad \frac{(\mathbf{R}(x, y) \wedge \mathbf{R}(x, z))^{(1)}}{\mathbf{R}(x, y)} (E\wedge) \\
 \frac{\quad}{\mathbf{R}(z, x)} (E \rightarrow) \quad \frac{\quad}{\mathbf{R}(y, x)} (E \rightarrow) \\
 \frac{\quad}{(\mathbf{R}(y, x) \wedge \mathbf{R}(z, x))} (I\wedge) \\
 \frac{\quad}{\exists u. (\mathbf{R}(y, u) \wedge \mathbf{R}(z, u))} (I\exists) \\
 \frac{\quad}{((\mathbf{R}(x, y) \wedge \mathbf{R}(x, z)) \rightarrow \exists u. (\mathbf{R}(y, u) \wedge \mathbf{R}(z, u)))} (I \rightarrow)(1) \\
 \frac{\quad}{\forall z. ((\mathbf{R}(x, y) \wedge \mathbf{R}(x, z)) \rightarrow \exists u. (\mathbf{R}(y, u) \wedge \mathbf{R}(z, u)))} (I\forall) \\
 \frac{\quad}{\forall y.\forall z. ((\mathbf{R}(x, y) \wedge \mathbf{R}(x, z)) \rightarrow \exists u. (\mathbf{R}(y, u) \wedge \mathbf{R}(z, u)))} (I\forall) \\
 \frac{\quad}{\forall x.\forall y.\forall z. ((\mathbf{R}(x, y) \wedge \mathbf{R}(x, z)) \rightarrow \exists u. (\mathbf{R}(y, u) \wedge \mathbf{R}(z, u)))} (I\forall)
 \end{array}$$

Exercício 3: $\forall x.\forall y. (\mathbf{R}(x, y) \rightarrow \mathbf{R}(y, x)), \forall x.\forall y.\forall z. ((\mathbf{R}(x, y) \wedge \mathbf{R}(y, z)) \rightarrow \mathbf{R}(x, z)) \vdash \forall x.\forall y.\forall z. ((\mathbf{R}(x, y) \wedge \mathbf{R}(x, z)) \rightarrow \mathbf{R}(y, z))$

$$\begin{array}{c}
 \frac{\forall x.\forall y.\forall z. ((\mathbf{R}(x, y) \wedge \mathbf{R}(y, z)) \rightarrow \mathbf{R}(x, z))}{\forall y.\forall z. ((\mathbf{R}(x, y) \wedge \mathbf{R}(y, z)) \rightarrow \mathbf{R}(x, z))} (E\forall) \\
 \frac{\quad}{\forall z. ((\mathbf{R}(x, w) \wedge \mathbf{R}(w, z)) \rightarrow \mathbf{R}(x, z))} (E\forall) \\
 \frac{\quad}{((\mathbf{R}(x, w) \wedge \mathbf{R}(w, z)) \rightarrow \mathbf{R}(x, z))} (I\forall) \\
 \frac{\quad}{\forall x. ((\mathbf{R}(x, w) \wedge \mathbf{R}(w, z)) \rightarrow \mathbf{R}(x, z))} (E\forall) \\
 \frac{\quad}{((\mathbf{R}(y, w) \wedge \mathbf{R}(w, z)) \rightarrow \mathbf{R}(y, z))} (I\forall) \\
 \frac{\quad}{\forall w. ((\mathbf{R}(y, w) \wedge \mathbf{R}(w, z)) \rightarrow \mathbf{R}(y, z))} (E\forall) \\
 \frac{\quad}{((\mathbf{R}(y, x) \wedge \mathbf{R}(x, z)) \rightarrow \mathbf{R}(y, z))} (E\forall) \\
 \frac{\quad}{\mathbf{R}(y, z)} (E \rightarrow) \\
 \frac{\quad}{((\mathbf{R}(x, y) \wedge \mathbf{R}(x, z)) \rightarrow \mathbf{R}(y, z))} (I \rightarrow)(1) \\
 \frac{\quad}{\forall z. ((\mathbf{R}(x, y) \wedge \mathbf{R}(x, z)) \rightarrow \mathbf{R}(y, z))} (I\forall) \\
 \frac{\quad}{\forall y.\forall z. ((\mathbf{R}(x, y) \wedge \mathbf{R}(x, z)) \rightarrow \mathbf{R}(y, z))} (I\forall) \\
 \frac{\quad}{\forall x.\forall y.\forall z. ((\mathbf{R}(x, y) \wedge \mathbf{R}(x, z)) \rightarrow \mathbf{R}(y, z))} (I\forall)
 \end{array}$$

Exercício 4: $\forall x.\exists y.\mathbf{R}(x, y), \forall x.\forall y. (\mathbf{R}(x, y) \rightarrow \mathbf{R}(y, x)), \forall x.\forall y.\forall z. ((\mathbf{R}(x, y) \wedge \mathbf{R}(y, z)) \rightarrow \mathbf{R}(x, z)) \vdash \forall x.\mathbf{R}(x, x)$

$$\begin{array}{c}
 \frac{\forall x.\forall y.\forall z. ((\mathbf{R}(x, y) \wedge \mathbf{R}(y, z)) \rightarrow \mathbf{R}(x, z))}{\forall y.\forall z. ((\mathbf{R}(x, y) \wedge \mathbf{R}(y, z)) \rightarrow \mathbf{R}(x, z))} (E\forall) \\
 \frac{\quad}{\forall z. ((\mathbf{R}(x, y) \wedge \mathbf{R}(y, z)) \rightarrow \mathbf{R}(x, z))} (E\forall) \\
 \frac{\quad}{((\mathbf{R}(x, y) \wedge \mathbf{R}(y, x)) \rightarrow \mathbf{R}(x, x))} (E\forall) \\
 \frac{\quad}{\mathbf{R}(x, x)} (E \rightarrow) \\
 \frac{\quad}{\forall x.\mathbf{R}(x, x)} (I\forall)
 \end{array}$$

Exercício 5: $\forall x.\forall y.\forall z. ((\mathbf{R}(x, y) \wedge \mathbf{R}(x, z)) \rightarrow \mathbf{R}(y, z)), \forall x.\mathbf{R}(x, x) \vdash \forall x.\forall y. (\mathbf{R}(x, y) \rightarrow \mathbf{R}(y, x))$

$$\begin{array}{c}
\frac{\frac{\forall x.\forall y.\forall z. ((\mathbf{R}(x,y) \wedge \mathbf{R}(x,z)) \rightarrow \mathbf{R}(y,z))}{\forall y.\forall z. ((\mathbf{R}(x,y) \wedge \mathbf{R}(x,z)) \rightarrow \mathbf{R}(y,z))} (E\forall)}{\forall z. ((\mathbf{R}(x,y) \wedge \mathbf{R}(x,z)) \rightarrow \mathbf{R}(y,z))} (E\forall)} \\
\frac{\frac{\frac{\forall x.\mathbf{R}(x,x)}{\mathbf{R}(x,x)} (E\forall)}{\mathbf{R}(x,y) \wedge \mathbf{R}(x,x)} (I\wedge)}{\mathbf{R}(y,x)} (E\rightarrow)}{\mathbf{R}(x,y) \rightarrow \mathbf{R}(y,x)} (I\rightarrow)(1)} \\
\frac{\frac{\mathbf{R}(x,y) \rightarrow \mathbf{R}(y,x)}{\forall y. (\mathbf{R}(x,y) \rightarrow \mathbf{R}(y,x))} (I\forall)}{\forall x.\forall y. (\mathbf{R}(x,y) \rightarrow \mathbf{R}(y,x))} (I\forall)}
\end{array}$$

Exercício 6: $\forall x.\forall y.\forall z. ((\mathbf{R}(x,y) \wedge \mathbf{R}(x,z)) \rightarrow \mathbf{R}(y,z)), \forall x.\mathbf{R}(x,x) \vdash \forall x.\forall y.\forall z. ((\mathbf{R}(x,y) \wedge \mathbf{R}(y,z)) \rightarrow \mathbf{R}(x,z))$

$$\begin{array}{c}
\frac{\frac{\frac{\forall x.\forall y.\forall z. ((\mathbf{R}(x,y) \wedge \mathbf{R}(x,z)) \rightarrow \mathbf{R}(y,z))}{\forall y.\forall z. ((\mathbf{R}(x,y) \wedge \mathbf{R}(x,z)) \rightarrow \mathbf{R}(y,z))} (E\forall)}{\forall z. ((\mathbf{R}(x,y) \wedge \mathbf{R}(x,z)) \rightarrow \mathbf{R}(y,z))} (E\forall)}{\frac{\frac{\frac{\frac{\frac{\frac{\mathbf{R}(x,y) \wedge \mathbf{R}(y,z)}{\mathbf{R}(y,z)} (E\wedge)}{\forall y.\mathbf{R}(y,z)} (I\forall)}{\mathbf{R}(x,z)} (E\forall)}{\mathbf{R}(x,y) \wedge \mathbf{R}(y,z)} (I\wedge)}{\mathbf{R}(y,z)} (E\rightarrow)}{\forall y.\mathbf{R}(y,z)} (I\forall)}{\mathbf{R}(x,z)} (E\forall)} \\
\frac{\frac{\frac{\mathbf{R}(y,z)}{\forall y.\mathbf{R}(y,z)} (I\forall)}{\mathbf{R}(x,z)} (I\rightarrow)(1)}{\frac{\mathbf{R}(x,y) \wedge \mathbf{R}(y,z)}{\forall z. ((\mathbf{R}(x,y) \wedge \mathbf{R}(y,z)) \rightarrow \mathbf{R}(x,z))} (I\forall)}{\forall y.\forall z. ((\mathbf{R}(x,y) \wedge \mathbf{R}(y,z)) \rightarrow \mathbf{R}(x,z))} (I\forall)} \\
\frac{\frac{\forall y.\forall z. ((\mathbf{R}(x,y) \wedge \mathbf{R}(y,z)) \rightarrow \mathbf{R}(x,z))}{\forall x.\forall y.\forall z. ((\mathbf{R}(x,y) \wedge \mathbf{R}(y,z)) \rightarrow \mathbf{R}(x,z))} (I\forall)}{\forall x.\forall y.\forall z. ((\mathbf{R}(x,y) \wedge \mathbf{R}(y,z)) \rightarrow \mathbf{R}(x,z))} (I\forall)}
\end{array}$$